Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice. ‘,.5': e

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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Note: 1. Answer any FOUR full qﬁestions from Q.No.1 to Q.No.7.
2. Question No. 8 is compulsory.

What are the two attributes of Investment? ‘ (03 Marks)

Distinguish between Investment and Speculation. (07 Marks)
Write a detailed note on'various investment alternatives available in India. (10 Marks)
What is a Short Sale?" | (03 Marks)

Criston products currently pays a dividend of Rs 2/share and this dividend is expected to
grow 15% for 3 years, then at 12% for the next 3 years and at 5% forever thereafter. What is
the value of the equity share if the requlred rate is 9%? (07 Marks)
During the past five years, the returns of a stock were as follows :
~ Year 1 2 3 4 5
Return | 0.07 | 0.03 | - 0.09 | 0.06] 0.10
Compute the following : i) Arithmetic mean ii): Variance iii) Standard deviation.

(10 Marks)
Write a note on Nifty. . ¢ | ' (03 Marks)
What is Risk? Discuss the different types of Risk. ‘ (07 Marks)

The market price of a Rs 1,000 par value bond carrying.a coupon rate of 14 percent and
maturing after- ﬁve years is Rs 1050 What is the Yield To Maturity (YTM) on this bond?

(10 Marks)
Write a-note on EIC framework in Fundamental analy51s (03 Marks)
Explam the three different forms of market efﬁc1ency (07 Marks)
Consider the details on Bond A : ‘
Face value — Rs 100 ;  Coupon (interest. rate) — 15 percent payable annually.
Years to maturity — 6 years ; Redemption value — Rs 100.
Current market price — Rs 89.50 ; Yield to maturity — 18 percent.
Calculate the duratlon on this bond. (10 Marks)
What is S,ecurity Market Line (SML")? (03 Marks)
Write a briefnote on ‘Dow Theory’. (07 Marks)
Consider the following information for three mutual funds A, B, C and the market.
~ .| Mean return (%) | Standard deviation | Beta
A %/ 12 18 1.1
B’ 10 15 0.9
ppals 13 20 1.2
Market index 11 17 1.00
The mean risk free rate was 6 percent. Calculate the Treynor measure, Sharpe measure and
J ensen measure for the three mutual funds and the market index. (10 Marks)
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a. What is Efficient Frontier? e (03 Marks)
b. What are the advantages of Mutual fund? LY ‘ (07 Marks)
c. A portfolio consists of 3 securities 1, 2, and 3. The proportlons of these securities are :
w; =03 , w;=0.5and w; = 0.2. The standard deviation of returns on these securities
(in percentage terms) are : o) =6, 62 = 9 and o3 = 10. The correlation coefficient among
security returns are pi2 = 0.4 , p13 = 0.6 , p23 =0.7. What is the standard deviation of port
folio return? (10 Marks)
a. What is International diversification? (03 Marks)
b. The stocks M & N have yielded the following returns for the past 2 years :
Year | Returns (-
M |N
2017 |12 | 14
; 2018 | 18 | 12 |
What is the portfolio return and risk made up of 60% of M and 40% of N? (07 Marks)
c. Explain the Markowitz portfolio selection model with an illustration. (10 Marks)
CASE STUDY. (Compulsory) : i CMRIT LIBRARY
{ / BANGALORE - 560 037
The returns (%) on stock A and market portfolio for 15 periods are given below :
Period | Returnon | Return  on | Period | Returnon | Return ~ on
stock A(%) | Market (%) “|.stock A(%) | Market (%)
1 10 12 29 % T 9 “ e 1
2 15~ 14 10~ 14 ! 12
3 18 13 g | 15 -11
4 14 10 ¢ 12 14 16
5 16 9 13 6, 8
6 © 16 43 By 14 7 7
7 18 14 15 4 = -8 10
8 4 7 o oy
a. What is the Beta for stock A?
b.

What is the characteristic line for stock A (20 Marks)
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